x? t @ W @ trés fragoes, ordem das operagdes

Nome: Encontro: Data: Pontuagao:
1 3 3
545
1 I 3 3
1010+ = = — X —+ - =
01077 27273
3 2 1 3 1 1
_X_+_: _ X _—— - =
2 5 6 2 5 3
1 1 1 1
5><4 3 0+5 3
1 1
45+ 5+ = = 100+ 10— = =
3 2
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trés fragoes, ordem das operagdes

1 3 1
10+10+-=2=1~-
0=10+35=5713

3 2 1 23

— X =t - = —

2 5 6 30

1 1 1 17

571 3w
28 1

45+5+ 3= > =93

Encontro: Data: Pontuagdo:
2 26 2
Z+64+8="=8=
3 3 3
I 3 3 9 1
_X_—|—_:_:1_
2 4 4 8
3 1 1 1
25 303

15 1
40+5--=—=7-

2

I 19 1
100+-10— == — =9
00+10 7= 92
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